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Question Number : 1 Question Id : 6824701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
A successiul teacher is one who is

DRCDI0BZR GIPTANBIEIP. ..
L

Options :

Compassionate and disciplinarian.

Q) Hcho, [EhdZmneoTt
6824701.

Quite and reactive.

TR0 DCC [BER)0L0DTm
6824702.

Tolerant and dominating.

VS50 oA © ::J‘e:i
6824703.

TFaoiiearth



Passive and active.

[2& D00 HBBERONOTTE
6824704.

Question Number : 2 Question Id : 6824702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

As per modern concept of teaching/learning process which of the following statements is most
appropriate?

Options

Teachers can teach students to gain knowledge.

DIRe PEND edrgrdines FFrosion.
6824705. .

Teachers help can create in a student a desire to learm.

DETHOE" OLLROTET ¢ é;%_h".: BOHOE sargEaine SEBEries
6824706.

Lecture Method can be used for developing thinking.

oS H08 &SR DL &B3TENoTHNY
6824707.

Teachers are born as teaching is an art.

DR e55EmP earmEainen R BvGorre RS
6824708.

Question Number : 3 Question Id : 6824703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If majority of students i your class are slow in gra sp'mg as a teacher you should

D 8518 fodk &m;égeéﬁ Q&) ol By dRoDHL® Fosald 6T edreEatdrre A

o ‘E@FD?
Options :

Not care about the intelligent students

(RepSoiBs durtie $§0HS D
6824709. = £

Keep your speed of teaching fast so that students comprehension level may increase

D0 OSPFRED 203 Qefore D SGT° IE) LoD.

68247010.

Keep your teaching slow

D SR Jhre SHAPNoSEO
68247011.

Keep your teaching slow along with some extra gwidance to bright pupils

AR R FIPRNEE (H8rEoHBN &w"fge&‘b TN s’nrf;tﬁéﬁ;éé;o hlelwlalel
68247012. '

Question Number : 4 Question Id : 6824704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If a student in your class stutters as a teacher you should

H &61588¢ o5 e 50 Jarr a’mey&weﬁa 2.5 aaacswcm,w 3 O TaED?

Options :

68247013.



Help him/her by supplying the words he/she wants to say.

@ L PRGN HTro ol
@ —y

Have him take part in all the oral activities of the class.
81 STOS oo edd® FTRLy SRR

68247014.
Give him word drill on the words on which he stutters.
S8 HOT Do U5 Jonard
68247015.
Provide situations in which his/her sense of self worth is buult up.
‘*'“c:zfo 205 Dofrolod & ST RS ST
68247016.

Question Number : 5 Question Id : 6824705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher’s major contribution towards the self-realization of the student is affected through:
w'ﬂ S ) HOPPHED B obossod® ST 50 Adore FHirddo 3808,

Options:

Constant fulfillment of the students’ needs

Dol wadorek Aosto e.ac‘:S o
68247017. e

Strict control of class-room activities

SEN& Fze o SEJorr AaboGodto
68247018.

68247019.



Sensitivity to students’ needs, goals and purposes

DT80 HVTE, Naryel 6fTYe D& DYBE 0 SO0

ve

Strict reinforcement of academic standards
DT (HIrerod pYHForr HIGedo IahKo
68247020.

Question Number : 6 Question Id : 6824706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of scientific research?

808 P TRHeH D085 olmo 0 H6?
o 3

Options:
Empirical
WOPHE
68247021.
Theoretical
TFO&E
68247022. i
Experimental
DEFrE)S
68247023.
Popular belief
neestes Brobs NS0
68247024.

Sub-Section Number : 2



Sub-Section Id : 6824702

Question Shuffling Allowed : Yes

Question Number : 7 Question Id : 6824707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Research can be classified as:

-

HOTEee el Bob DPorr SEBCoSHE
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Options:
Basic. Applied and Action Research
SEDE, ©H0E HOAW SopBs 505D
68247025.
Quantitative and Qualitative Research
BOSrerE)s 0w rherd)s B0 GFHen
68247026.
Philosophical, Historical. Survey and Experimental Research
o8 S, SOEeE)S, $O; SO BErrE)s B0 g
68247027. =
All the above
25
68247028.
Sub-Section Number : 3
Sub-Section Id : 6824703
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 6824708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A research paper

20T Cﬁ_"‘ _':'“NG' T

Options :

1s a compilation of information on a topic.

2.5 @drR8 Sonofods Jaroes Sodedo
68247029.

contains original research as deemed by the author.

HOTHHE LoHHBHN ol -HoTProTer SED So

68247030.

contains peer-reviewed original research or evaluation of research conducted by others.

R $08%555 ¥onofodd womes B5 a8k $08%morme Mremosio
68247031.

can be published in more than one journal.

.56 So8 Q8D HOF G I BB (HHOoSBEAKE.
68247032.

Question Number : 9 Question Id : 6824709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Selection or manipulﬂtiou of variables 1s always a part of

Sorde J0DS B Joho|Een & D0BGT 5508° wodoito
-

Options :



Historical research

[ oo =D f n
PUEPE)S USSR
S

68247033.
Fundamental research
(ErEns $0386S
68247034.
Descriptive research
SEPEE <ottty
68247035.
Experimental research
BRRMEE DTS
68247036. =

Question Number : 10 Question Id : 68247010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which techmque is generally followed in sampling when the population is finite?

2P B3)0SHNS &-oa:;@‘s SR FerBLmomT SRTRN0T (HEIADI D88,

Options :
Area Sampling Technique
lalesvlliettEalosoiale
68247037.
Purposive Sampling Techmique
SRETES H&SIDI0
68247038. X

68247039.



Systematic Sampling Technique

(S0I:N (DE&SADRo
Quota sampling
SPer (80N
68247040.
Sub-Section Number : 4
Sub-Section Id : 6824704
Question Shuffling Allowed : No

Question Id : 68247011 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 fto 15:

There is arise of terrorist activities in different parts of the world. The terrorists believe in the power of the
gun and want to achieve their objects overnight. While some of these groups are fighting for control over
some pieces of land. others are fighting for spreading their own ideology or religious philosophies. They
choose to defy public opinion and refuse to see the reason. They think that their own view point or stand
is the only right view point or stand. and that they have a right to convert other people to their thinking by
force. For this avowed purpose they do not hesitate to commit the worst of crimes including murder of
innocent citizens, looting or burning property, kidnapping people, hijacking planes and creating terror in
one way or the other.

A group of Al- Qaeda terrorists. guided and supported by the Taliban leader Osama Bin Laden based in
Afghanistan. struck terror in the USA in a big way. They hijacked four US planes from some US civilian
airports. While one of these planes hit against the US headquarters in Pentagon. another two planes
brought down the towering World Trade Centre. killing at least 5000 innocent US citizens.

USA swung into action and ordered its air force to attack Afghanistan and bring the terrorists to book. In
amassive attack. the Talibans were defeated and destroyed. Similarly America attacked Iraq as President
Saddam Hussain himself appeared to be a big terror. Iraq was badly damaged.
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Sub questions

Question Number : 11 Question Id : 68247012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



According to the paragraph. what do the terrorists trust in?

PGP0 (Porr &i@artien H DERTH?

=

Options :
Power of barrel
Har8 ey 45
68247041.
Killing innocent people
@IrdDE [Pae Jodeo
68247042.
Create violence without a cause
Se8te0 Bome o {Rosto
68247043.
Occupymg some places of other counties
5 ;ﬁq* Enn.\. — oy Ex L
e8247040, D50 B 060 FY) (@rozroid wEvosio

Question Number : 12 Question Id : 68247013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The terrorists belive in one of the following:

Ly

f@artoen & (8o af)Rd PES® o8 R Jsmmet:
Options :

Honour public opinion

(SerfIgraird) TEOTW
68247045.

68247046.



Challenge public opinion

@E"f,.- L:':' Cﬁ:"m NaFeD < v.%:":jj

Gowith public opinion

@i...- n..l-.a-._g..-' Cﬁ.a':l@& %GD
68247047.

Mould public opmion

Beedigrairy) srgito
68247048.

Question Number : 13 Question Id : 68247014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Select the correct answer from the followimng sentences: Terrorists commit crimes of

& (8ol Tz od BN Srrre QodFol: de TR Jovw

Options :
Murder and kidnapping celebrities
Sogoe P oCan S
68247049.
Kidnapping politicians. murder of police and beating rich people
28ah ahHen, BDve HE, FISoHO a0
68247050.

Murder of mnocent citizens. burning property. kidnapping people and hijacking planes.

OEPOLE The SE o KGR0, Huodh eiFlodto L0 JiFTed Tt Toho
68247051.



Burning buses and murder of the police

Re BP0 Hochn FFOeD FE Dabo
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Question Number : 14 Question Id : 68247015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Who attacked Iraq and why?
zorSD A5 oD o Ted?
Options :
US air force attacked Iraq as President Ahmad Hassan 1s an enemy of Americans.

SO DS oo 5053 wh Thol, e Rl FHT eSY Y& THeo Sy
68247053.

America attacked Iraq to destroy the country and kill many inocents in Iraq

ile))

E}I
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Pakistan attacked Iraq as Iraq attacked Pakistan more than four tumes

2075 bRy R8N trh TN00, ©othEd RS soeEn ré Tok
68247055.

America attacked Iraq as President Saddam became a dangerous man.

OFHH JTpo (PIrESERS e Sroeid o0 soeER b TRok.
68247056.

Question Number : 15 Question Id : 68247016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Two of the following things are not co-related to the episode of US planes hijacking. Find them out,
& Doth Dactrod® s0m Jirre Trerdol Qs SRS Sirdonotiin Bib. 8D S50k,
L Al Qaeda terrorists

of T dEmthe
. World Trade Organization

el &8 @Q@E@ﬁﬁ
m Afghanistan

DN
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. Fiveplanes

0 e
v.  OsamaBinLaden

o PP OF oY
w5000 people were dead
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Options :
1andin
1500050 m
68247057.
nandiv
11 35000 1v
68247058.
vand vi
V a0dim vi
68247059,
11 and vi
111 508 Vi
68247060.
Sub-Section Number : 5

Sub-Section Id : 6824705



Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 68247017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Find out which one of the following elements is not important in non-verbal communication?

& (806 DFR) Matred® 2 Hven B JEPS [HR6E® SwarDNG SH?

Options:

The body language of the speaker

58 TwE) BS e (e o)
68247061.

The eye contact of the speaker

S Qs S0é rHen
68247062. = =

The volume of the speaker

ﬁ ToE), K;;tﬁﬁgo::
68247063. :

The facial expressions of the speaker

"”‘ T0E) Sog 535050
68247064,

Question Number : 17 Question Id : 68247018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which one of the following contexts refer to the background smularity between the
sender and the receiver?

& (8ot Sotim)@’ 20 B O (ard (B¥5) ey Biigrmy SPEREED SonoQonin?

Options :
Cultural
Lok &8
68247065. e
Physical
Setets!
68247066.
Social
PaITeeRs
68247067.
Chronological
SPeRr|5a0
68247068.

Question Number : 18 Question Id : 68247019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A teacher should be effective in asking questions. He should ask

LA olrtod® & agmgevnlaSltsingalle SE) @ d?

Options :
Thought provoking questions
edfs5Se T380T (P
682470609. - S

68247070.



Meaningful questions

©BS08EDN (DS
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As many questions as possible
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68247071. ~= =

Confusmg questions

&8558 (B
L=

68247072. =

Question Number : 19 Question Id : 68247020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The term ‘media’ comes from the plural of
‘Sl o3 Ho &3 DF0SSF0 Dod Sk
Options:

Greek Medium

f: i=%) ::FJJ&CIIDD
68247073.

French ::..c. Media

BoS Sodawo
68247074.

Latin....... Medium

85 S&ado
68247075.

68247076.



German...... Medium

228)S SH&cho

Question Number : 20 Question Id : 68247021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Rearrange the following steps n the process of interpersonal communication:

e g Dogrdd HIBADE® Bod e KB Ehod’ (@rahod.

A Message
Kot

B. Encoding
RS8R

. Recewver

™

b

T

oS
[

D. Decoding
&5*of

E. Sender

The right answer according to the code 1s

58 ($80 1B Bargrdo

Options:



68247077.
5216437
68247078.
5126347
68247079. - 126347
5216347
68247080.
Sub-Section Number : 6
Sub-Section Id : 6824706
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 68247022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The mcomes of A and B are in the ratio of 3:4 and their expenditures are i the ratio 4:3.
If B saves one third of his income, the ratio of their savings is

; it i v . P ob i e o of
L B0 B A3NE) Srdiren 3: 4 Q)26 &ar) 00 0B a0 5AIFe) A )¢ 4: 5 6
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Options :
-~ .
68247081. 12:16
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68247082. 12:20
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68247083.



68247084.

Question Number : 22 Question Id : 68247023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A’ started a business with Rs. 25.000 and after 4 months B joined him with Rs. 60,000,

‘A’ received Rs. 38.000/- mcluding 10% of the profits as commission for managing the

busimess. What amount did B receive (in Rs.)?

2.8 TErSand A 8r. 250008 oo D00 4 FO® dhTd B 9sdS &
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Options :

25.000
68247085.

q
68247086. - B, (00

72
68247087. 2000

68247088. L0000

Question Number : 23 Question Id : 68247024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Two trams of lengths 700 m and 800 m are running on paralle] tracks towards each other.
What 15 the distance travelled by the two trains together (in meters) from the time they
start to cross each other to the time thus completely cross each other.

H88750 NATOSESNTRD) HEFO R HGTSN) Fodk B TR0E;, e 700 ab.
605 800 DAY, 92 e DEN DHW Do a8 TRTES T Tenerdd
S0K5) DI, & Bodh B 1H05P0DS Erdein
Options:

q
68247089. 1208

68247090. L

68247091. Lot

100
68247092.

Question Number : 24 Question Id : 68247025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
‘AMOUNT’ 15 coded as ‘ZNLFMG’. Then the code for ‘ORANGE’ 1s

'AMOUNT' 'ZNLEMG' T 56 Doha&od. @dpch 'ORANGE o 8§56
Options :

LIZMTH
68247093.

LIZMTF
68247094.



LIZMTV
68247095.

LHZMTF
68247096.

Question Number : 25 Question Id : 68247026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence is

Bod 3505 0NN @9 Trer DT

WXCD, UVEF, . QRIJ, OPKL

Options :

68247097. R

BBZ
68247098. Q

68247099.

STGH
682470100.

Question Number : 26 Question Id : 68247027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The missing number 1n the sequence: 5. 13. 25, 41, 61.

0DEN0S SHoDS Hows: 3, 13, 25, 41, 61,

Options :

682470101. .

682470102, 52

682470103. o

99
682470104.
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Statements:  All girls are good.

Some women are good
arEianen: @0l ardEen JHowWardD.

N0V FodD Dearen
Conclusions: I. Some women are girls.
II. No women 1s a girl.
S0A0Y): L Fodd arden ardiewn.
II. o) Dars S ardE =N

Options :
I and II are true
08050 I 2a3p
682470105.

I 1s true and II is false

[ 2,59 000 I &5v
682470106, = U o



I 1s false and II 1s true

5 aOCD IT 2y
682470107.

I and IT are false

[ 0850 I éé@)ﬁ
682470108.
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The odd one among the following is

BoOTAS &)

) 28 V0P Do
Options :

682470109, 1/

682470110. ='

682470111.

—
|

4
682470112.
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The following Venn diagram represents the number of students opted for various subjects
of skill enhancement courses offered by the three Departments; Mathematics. Physics and
Chemustry. The total number of students 1s

Qe ARV EL RN NN o\ WIR e TndeWIN G RV VWIS IV I W e VI EA R N TSV ToTmToT WY
2R NS D Tz K DosPOAOH FEIOD otHHIN) TN HOYEOD

808 IS Qe AFDOHD. ©oNS JNSain AT HOW?

Options :

682470113.

183
682470114.

F—
Lh
-2

682470115.

682470116,
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C 15 the brother of D. A 1s the husband of B. B 1s the mother of C. E 1s the wife of D.
How B is related to E.

C, D 3wy FS&HW. A, B TEy, 2, B, € Bg) 0. E D Bwg) 278z BEE & Ko
RO20

Options :

Mother

PE'E}
682470117. 5

Father

505
682470118. i

Mother in law

o069
682470119, &%

Father in law
682470120, o306
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Note: The questions Q. 31 to Q. 35 are based on the following information:

.q

HeE: 99160 Q.31 :b0d Q.35 505, 308 Narrdo SO0 dr) o

The total expenditure mcurred by a management training institute in vears 2014-15 1s Rs.
25.0 lakhs and 2015-16 1s Rs. 32.0 Lakhs. The percentage of expenditure incurred in the

two financial years: 2014-15 and 2013-16 are presented in the following table.

2014-156 DB carer 38 e H0Y) ( Management training institute ) G305, B0 H:aH0
&r. 25.0 ©5 €0 005 2015-16 OF. 32.0 ©F 0. Toch 808 D0aeh @“’55 ID)0T FTe0: 2014-

15 508050 2015-16 6 Bod HEES’ DB 00T

S No Expenditure Particulars 2014-15 | 2015-16
ENOROMN IV

1 | Faculty (are59) 250% | 27.0%

2 | Advertising ( (8exden) 200%. | 15.0%

3 | Material preparation (R636cH6 aird) | 100% | 7.0%

4 | Printing (0(569) 250% | 20.0 %
5 | Admumistration (H8zrea) 75% | 8.0%
6 | Salaries (Jebedanen) 50% | 80%
7 | Others ( @eddamen) 7.5% | 15.0%

Sub questions
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In the two years, total expenditure incurred towards salaries (in lakhs) is

Bod Hoss oo, et TOomd 1 o H:000 @F o)
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1:25
682470121.

682470122,

682470123.

682470124.
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In the year 2014-15. the total expenditure incurred towards faculty and material

preparation (in lakhs) 1s

2014-15 0058508, @TEHHIOH HOD DEOHS S0irds H020H0ND Fndo

53000 (@ oS

Options :

73
682470125.

3
682470126, 027

682470127. 804

2.5
682470128.
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The expenditure increased towards administration m 2015-16 when compared with 2014-
15 15 (in lakhs)

2014-1568 618 20151665 HBFOD § DOAK H:000 (©F )

Options :

I
(%
el

682470129.

682470130.

682470131.

0.685
682470132.
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In the two vears. total expenditure incurred towards Advertisement and Administration

(in lakhs) 15

& Both e’ao;’wfﬂagpi’f 1995665 9805 HBFeS (©F ) § 5020800 TS0 H:0H0

Options :

8.55
682470133.



o
682470134, 19-323

1.235
682470135.I_L'3‘

4.4:
682470136.
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In 2015-16. the total expenditure incurred towards printing (in lakhs) 1s

A C — - - - - = F i i - h {:‘E
2015-16 €5, Q062 50 D000V BVE0 H:0N0 (5 )

Options:

682470137. 8.64

6.40
682470138.

4.80
6824701309.

| o]
_n
ol

682470140.

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Question Number : 36 Question Id : 68247038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

8
6824708

Yes
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Who invented modern Computer science?

., - - o -
eGOAS SoFel TR S0 da?
ot} — [=%

Options :
Charles Babbage
*0n PIE
682470141,
Allen Tirng
682470142, ©OTET00R
Simur Cray
R0
682470143.
Augusta Adaming
e ool
682470144.
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The output quality of a printer 1s measured by

=

208 03¢ HE Tred Fed?

Options :

682470145.



Dots per square cm

o) $8 28 Dodnes

Dots per sq. inch

oed) H56 218 vod
682470146.

Dots per inch

ooed) B8 mod
682470147.

dots per cm

ooeh) 58 Dodines
682470148. ™
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First page of Website 1s termed as.

DTRET TS ek
Options :

Homepage

gih
ﬂ?"i

= =
SRR

=

682470149.

Index

U

682470150.

682470151.



JAVA script

oL we)
Bookmark
eSS0
682470152. -
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VOIP stands for..........
VOIP edre
Options:
Virtual old IP

8 StnHS IP
682470153. =

Video over IP

S

seonR £.358 IP

682470154,
Voice over I[P
HER> 255 IP
682470155.

Virtual over IP

SENHS £.358 IP
682470156. &
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Which of the followmg is purely Indian higher education portal

Bol &HS® DO vodair NS Doy Y.

Options :

682470157. NETEL

682470158. WIZIQ

Openz study
682470159.

edX
682470160.
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The Protected areas, National parks, Wila libe Sanctuaries and Biosphere Reserves are the Ex-

amples of...

]

PEah eTRdTe, SErd Sobgn Sore, ddtn Juw Jod 688 (@ome B
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682470161.

682470162.

682470163.

682470164.
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Ex-site conservation

S -Ren Slelelsl

In-situ conservation

M-l NoBsm

fartd,,

10

Cybemetic Conservation

R dS JSobEm

Leibig’s Conservation

rcl

E&ﬁ& Nosse

ey

Correct Marks : 2 Wrong Marks : 0

Set binding targetsfor mdustrialized Nations to reduce emussions by 5% agamst 1990 levels overa

perioud 0f 2008-2012. This was proposed in

2008-2012 S ecprod 1990 on o8 5 o EowS el ol oS

ol o - e o £ o=t
Fod AeoTod (H8rED & SrIdd” .

Options :

682470165.

682470166.

Rio de Janeiro. Brazil, 1992

oTr8ad8, Bad, 1992



Stock holm. Sweden. 1972

nﬁ;ETz‘Jﬂrto. S, 1972

8 opraﬂlagen._ Denmark. 2009

DTFAT, BB, 2009
682470167.

Kyoto Protocol. Japan. 1997

5%¢5 (@F¢° =5, aeS, 1997

682470168.
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In september, 1994 (UN Conference) Some 15.000 leaders and representatives from 179 Na-

tions and nearly 1.000 NGOs met in Cairo. Egypt to discuss the problem related to

1994 'amoao@ DTS Bgod® 179 Gwo 15 Jo dob FahHen, ird Jow

BehB 86 & Roge éna“’% 45 36°¢ IR & 588D S0 10T,
Options :

Poverty and population

- - i
20080, =P

6824701609.

Carbon Emissions

érﬁ“ o ﬁm;mea
682470170. '

Resource Management

682470171.



Social Modemization

KEres ohdissno
682470172.

Question Number : 44 Question Id : 68247046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Inwhich conference 1690 Nations agreed toroll back CO,. methane and nitrous oxide emissions

about 5 percent below 1990 levels by 20127

201

[
160 30 & $5r3¥08° eofisbomron?

I_\.':l

88 1990 Fawd 5 o s CO,, HFS, LD 6F)f 6o SHons el

Options:
Earth Summnit
GO@ 65K
682470173.
Copenhagen Conference
SRSHNRS Sarado
682470174.
Kyoto Protocol
5red ([@Pedsed
682470175.

Stockholm Conference

682470176.
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Which quality parameter represents the organic load in the water reservior?

& a6 DolRch DPYrEED (8

Options :

Chemical Oxygen Demand

EFa0S wbud 8srof
682470177.

pH

TREFE0 o0kl mEds
682470178.

Conductivity

Sossdd
682470179. e

Biological Oxygen Demand

205 efuS 85708
682470180, =
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e 5200

10
68247010
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Who among the following was the founder of Gurukul system of education i India?

tRBEA5 B0 et PHHen QN%?
ve e g

Options :
Rabmdranath Tagore
5o B8 ooiie8
682470181.
Swami Vivekananda
F o DIse0l
682470182. =
Jiddu Krishna Murthy
&9 B0
682470183. )
Mahatma Gandlu
SSemrrol
682470184. e
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‘Which of the following 1s not the goal of higher education in India?

PEEGIS® &8 dumy o0 A0 HQ?

Options
Accessibility
682470185, £OPITER

Quality and Excellence

reand DO (Fralrdsd

o

682470186.



Value based Education

DenSed® 5RES D
682470187. =

Compulsory and free education

&8 o8 D
682470188. e =
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The University which telecasts inferactive educational programmes through its own channel 1s:
RrPod B0QuR I8 e AT, YEEFOD @ocﬁﬁ@@ D ITOEhn

Options :
B. R. Ambedkar Open University, Hyderabad
i 8. 68, ©0oBE)8 FE8E DETedho, TET .
682470189. - E
I.GN.O.U.
B00TPOg & 8BS DI DTedho
682470190. -
University of Pune
682470191, T 00 DEITZOIO

Amnamalai Umiversity

"ﬂ*‘*@ 2 Sﬂamﬁ"bcﬁ,o
682470192.
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Value education makes a student:

rd ol = vl
T= ™ ™ &
aTer e a.am“ﬁga:m Zer SBO\GEORD
- - L

=
- -

Options :

Good citizen

&&Sshardeorr
682470193. -~

Successful businessman

DecHHoHB T EFEISenrT
682470194,

Popular teacher

Erotrone earEEdineT

- -

682470195.

Efficient manager

B8 chasordoenrr
682470196.
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Which of the following body 1s meant for co-operation and co-ordimation between the union and
states in the field of education?

crsBoriod® Solgo dOafy TriEpe St Hibinabo ARGodmR8 65200s Ko

EolaN

Options :



NCERT

%,

N0 88 Jod - NCERT

r&aD, saPEch duEy os®d - NCTE

amdsdfy Do B0
682470197. =

NCTE
682470198.

UGC

Eé;@w;&aﬁo‘»@
682470199.

CABE

Sobad Do
682470200.
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Which of the following 1s true in relation to the linear demand function; Qa=by—bP?

2880y &irol Hoo Q¢=hy-biP & Sonodol) BobalE 26 i’
Options :

It implies a constant slope and change in the value of elasticity of demand at various prices

56 DEDY oo DHBe DY Ko 5 Eirol ido Qeodd® Srdn 08,
682470201. i 2 = K 5

It implies a constant slope and constant value of elasticity of demand at various prices

682470202 20 ?géi‘_mé Tk Bm OB B¥v icg %63&5 &rob ?55%1,{)@;0 Deniidy 808,

682470203.



It implies a change 1n slope and change i the value of elasticity of demand at various prices
50 ed’ 8% Bk A Ge éc:’: Beof & &%{ﬁé "0 DendE? S8 Kiob

It implies a change in slope and constant value of elasticity of demand at various prices

Tod St nBain A Ho D5 BEHS &irol e Sido Devdd 08,
682470204. s -
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In imperfectly competitive factor market, at the point of equilibrium, Value Marginal Product=Rs
100. Marginal Revenue Product= Rs 80 and Average Wage= Rs 40. The value of monopsonistic
exploitation is:

-
L1

ool = 80 Srarchen B0k Wi 380 = 40 &rarche. Sﬁﬁﬁé\,“ oF 898 duod -

g T0% éﬂ‘@é&f@% N8y Dot M).S 85r05 8 Do = 100 GrarcheD, a%oé"éig

Options :
Rs 60
682470205, 00 Srarchen

Rs 20
682470206, 20 SrErched

Rs 140

140 Brarchen
682470207.

Rs 40

40 Brarchen
682470208.
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According to classical theory of output and employment, which of the following is true?

Rolmedh B&E HBd a&? iz mm*oéo Fsbo (Bod QS DB Fdb0?

Options :

In the long run actual output is equal to potential output

58s006° =i 2 ads, a8 DADKORS 688 :‘=o.au Do dotod.

6824702009.

Free market mechanism ensures mefficient allocation of resources

. ?:r—': BT dholgroiio del S¥de &macﬁ,iﬂ Branod) ebibeod.
682470210.

[n the long run, economy attains equilibrium with less than full employment

Bwot’, SoipEiEher vkl 848 aifiee oy ek 08 ST F%0008.
682470211, * R e

[n the long run thete may be the problem of ivoluntary unemployment in the economy

ﬁifr‘@ou"s &6’* éé«oé& eR0) ¢ 063&5 Az éaro, 808 aoﬁiww
682470212.
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Given the consumption function C=DbY and the value of b=0.4. Y=200. the APC iS'
C=by @36 HAGFK Hoo. b dewd = 0.4, Y Dend= 200, vowd it IR [

Options :

682470213.



Less than MPC
asrod QAEH (HG Lol S5

More than MPS

darod RSy o.:l\o/% & 208 &J_J*
682470214 =

Equal to MPC

taros AR 19 "”%E%E HeTrS0o
682470215.

Equal to MPS

5% T AT AT SN - R ALYy
682470216, B08 EPER (BRBE Do
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According to multiplication theorem of probablity. if two events A and B are independent then
the probability (P) that A and B both will occur 1.¢ P(A and B) 1s equal to

Rogap® k) Homs=8 ?om‘oéo ebo, A $bc% B o Both Sidot]) % réoldg
A %80k B 33 "wo.;é (P) &¥re P (A b8cin B) (Bod =06 508 ‘K,S’m‘)o?

Options:

682470217. B AL) +P(B)

P(A)-P(B)
682470218.

P(A)x P(B)
682470219,



P( AB) + P(BA)
682470220.
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Which of the following 1s true in relation to correlation coefficient?

S o208 KeesRE Yoodod (Bod 508 28 T=dHo?

Options :

It describes magnitude of correlation only

28 J& Somoo GwY) HBSrR) SrEih Sredknod.
682470221. c oL =2

It describes direction of {:nn‘elatiml only

— "/"{"E‘/'\ - -\'\5‘:*. e m l“Jq-«. 'f-x-r:.a\‘/
682470007, & PETRODORC Tk IR Qok.

Karl Pearson’s coefficient of correlation is denoted with the symbol &’

=8 00BN oY) $ironod rhesd) k' ol 3 1088 Sl
682470223. 7 =

It describes magnitude and direction of correlation

28 I Jonoy Hrefo DB bk B3 JrrlRod.
682470224, -
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In relation to hypothesis testing, which of the following implies Type-I error?
HBEes éééfc KomoBod, Bod RS 2B Dk o &54%\ BDHER06?

Options :

Rejecting the null hypothesis when it is false

S8y DOLS S5p wondP TV S¥HBoitoo
682470225.

Accepting the null hypothesis when it is true

&gy DB¥® 2.y wonddptdh oD wof%Boito
682470226. o o o

Rejecting the null hypothesis when it 1s true

. ‘dﬂ*‘x - V{\\: &S00t o '-""":-' o Al e

682470227 iy DBE® 2P LonBPD TR B8Pt

—"LLCE]JE].‘[]E’ the null hypothesis when it is false

}‘: "\,\4. ™ - -“...-' "-'"""-""' L

682470228, ey DBE® 3P ©ondIPed == ©ofi%Bostso
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Q=20+0.2L?-0.0005L%, at L=100, dQ/dL is :

Q=20+ 0.2L% - 0.0005L> wowd L=100 = @od

? Dend Nos?

Options:

25
682470229.

682470230. L

L

682470231. 40



682470232. 60
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A vector having each component as unity is known as;
o aiebo (Vector)e® ef) women (Components) cedl e 408 AR AR Hevbh?

Options:
Unit vector
= [+ = __=‘/_'= ra
682470233, C0RE ==X0

Sum vector

o e e o

682470234.

Zero vector

T
682470235, TNy FTEFEO

Orthogonal vector

B8 S ko
682470236. s
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Who among the following explained the theory of comparative advantage on the basis of
opportunity cost?

& (Bob 786° A% ezEdho errdorr SoTdl (P Rezosd) aBoert?
Options :

Mac Dougall

£ =
682470237, 05 TS

Dernberg

o) =86
682470238. il T

Haberler

I, Yy —
682470239, = 8%

Jacob Viner
T 5 —-Jﬁg

e e O
—

682470240.
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Income terms of trade= 88, Price Index of exports= 120 and Price Index of imports= 150. The

quantity index is:

gmrod S8 Qoopden = 88, Abidde oo Srd) = 120 SB8ch Bivdde & &l = 150,

385ren ) Devid:
Options:

30
682470241.

6’}
682470242, ~~



682470243.

682470244, 130
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In relation to the theories of public expenditure, ‘Wagner Squared hypothesis® 1s assoctated with
the names of;

ook onk: fou‘owa, Qon0Bodd ‘b ?"0“55 2% 256 258 408?

=Y

Options :

Buchanan and Tullock

- -\-\-—n“:‘;F Ay E
682470245, “F= Sobaln Sl

Colin Clark and Simon Kuznets

m@m "‘E 085 _“551.,;\..- ._.J:....n.-e.ﬁ,
682470246.

Buchanan and Simon Kuznets

C:C:‘ﬁg :ﬂ.f:t_m:h NEfDn.- \.A..'w'g?\.- B
682470247. o

Tullock and Wagner

= E e — \=

682470248, SUS 02 TS
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In relation to WTO, Multi-fibre arrangement 1s related to:

@035 ardey cg 2888 %685 b 206 Soeptn (Eob & E° 08 SonoBotioh?

8y

L

Options:
Food products
&:F8 HhoNen
682470249. =
Pharmaceuticals
F70°) QedEdy
682470250. € o
Auntomobiles
F 30BS
682470251,
Textiles
Slren
682470252, ==
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Net loss in consumer’s surplus due to the presence of monopoly in place of perfect competition
i a market 1 called:

Soig SHER oderr ) 6 o ot droorr GG Drbend X0
QS Kapf) 20D bevdsy?

Options :

682470253.



Gain in social welfare

Oan¥ NoZewo BNE0
o2 % S Bides

Monopoly loss

r_\ﬂ;pﬁé:[ v_-;‘/'
oJSod n.-a%l@
682470254. R

Net weight gain

Qe 0y BNE0
682470255, 2

Dead-weight loss

GE Jowed B0
682470256. s
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According to modern approach of components of money supply, which of the following is a
constituent of near money?

(o SRE™R grrre Sonodoll ethmEd t@ﬁ;ée 8o, Bod G b B (o8 aro?

Options :
Currency Coins
555"&‘3 T TBen
682470257,
Currency notes
%88y S
682470258,

682470259.



Demand deposits
&drol Sar2iy

Time deposits

oS8 SarRiy
682470260. = o
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Which of the following is not a capital market instrument?
Bod 0E° b Soredd & 0K) FeKo TuD?

Options:
Zero interest equity shares

oy D6 SBré) eeren
682470261. BT e =

Certificate of deposits

m&@ué..: o5 &3"35
682470262.

Qualified institutional placement

F-nnal -\G E“-\ﬂ Tl -\"'{1,5 -" E:ﬁ-‘c}éu'
682470263.

Secured Premium Notes

%8 (B80cho Seny
682470264. e i
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According to Rostow’s stages of growth, which of the following is the fourth stage?

6’3‘@3 T¥, B Bde [=o, (od >06° 28 oS 887

Options :
Drive to maturity

HBNES Iy Habo
682470265, RS

Take-off

QX8 &8
682470266. =

Age of high mass consumption

D FHorIFE DATN o
682470267. -

Traditional society

e L e
682470268, Slo]pSlnulovs IPSEviiltTo)
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The infant mortality rate in India. in 2015 was:
20155 éoéé&,éoaﬁ% TFESRE0S by Ben:
Options :
37 per ten thousand live births

Eree08° HED S HaZe 37
682470269. =



37 per hundred live births

82470970 e DES (58 S8 37

37 per thousand live births

Eree08® JEB (D& Ik 37
682470271. = =

37 per lakh live births

= B A Bl Aoy ol QT
62470270, T Mg 0 B 2
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Which of the following 1s a method of valuation of environmental damage?

f L ) ) F-_B L]
8od =R 2b HoyteeRE wbh SapQ) Hho) Tw HEE?
-

Options :
Full cost method
Sodo roh DBe
682470273. el =
Variable cost method
58 rad DB
682470274. % @
Fixed cost method
8 Jrch DS
682470275. ¥ ~ @

682470276.



Travel cost method
Dcires Srcdh DBE
= @
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All revenues which the central government realizes will go to the:
2ol (3ehz=RE 3’35;': o) Tther BRS° e oHzean?
i. The contingency fund of India
vpde 3] Eﬁ?\}éﬁ a,:fﬁ;;_?()&:
1. Public account of India
88 SYE ATy
111. The consolidated fund of India
5 Dom&E 08
1v. Reserve fund of India
68 b VG

Options:

11 and 111 only

11 Ho8050 1il Koe(&ab
682470277.

1 and 1vonly

1 - 1"“‘?' "“’_—:-\
682470278, | DO IV S(Ea

i1 only

111 oo (&
682470279.

682470280.



ii only
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Population Pyramid also known as:
2msr DG 2057 DForr DR HeoarS?
1.  Fertility pyramid
No@“‘s‘:a* DG
1. Age and sex pyramid
Do o8k Dol DELE
i1i. Morbidity Pyramid
T8 Doed HB&G

V- Pyramid of Birth rates
T Btnd Donobodd LHELE

Options :

11 and 11 only

il SoBcho il S
682470281.

i only

y L
682470282, (B

1 and 111 only

1 S8 11 S
682470283.

682470284.



i1 only
1 Soo| S5
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In relation to development economics, the concept ‘fimctionings’ 1s associated with whom?
©d) Q@Eg &coram{__“"u omofo), ‘Doxlon) &3 A @QE 3§ 258 SobS8 dod?
i Pam Woodal and Paul Samuelson
e ard Dbk &8 Fbrdda
i, David Smith and Gunnar Myrdal
306 RS bbby b s
il Guanar Myrdal
o8 Dod
iv. A K Sen

E
IR 8

Options :
iii only

ii Som(e83
682470285.

1 only

Lo 8L -
682470286. = S

1 and 1v only

i o = : T “'fﬂ
682470287. DB 1V S &

682470288.



v only
iV Hoel@aDh
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The concept of returns to scale refers to:
EEFEZB0NS PEYery 2SS B Srdidos?
i.  Short run analysis of production
OTOE adg D35es
ii. Market period analysis of production
SOl T a8 8 DZses
1. Very short period analysis of production
v e

©8 Je) To adg Dghe

IV. Long run analysis of production
E8=DX 4% s D24
e e (Ao

Options :
1, 11 and 11 only
i, il $o8c%o 111 Hool&aDd
682470289.
i1 and 1v only
. E i . '“z_—in-\
682470290, 1 S008IV (D
1iv and 111 only
iV o8 ko il S
682470291,

682470292.



1v only
1V $oe($3
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[n monopolistic competition, at the point of long run equilibrium, group as a whole:
ey Fée éﬁ?@t’ ST Hotds) éig,‘éémaiwo Ando :
L Produce with the least average cost
£4 e §cho8 4 Fo
1. Operate at optimum level
ofoiiich 6 v 5§ EXFIbE0D
. Produce goods left to the minimum point on the long run average cost curve

BS0 it S0t Gk K08 Bt Ao BGS A8)8 EPGo8
& . 2

v, Operate at more than optimum level of output

edeiiioh Fandoll MHre a8\ Hhob.
: g Ol

Options :

i1 and 111 only

il SoBcko 1l Soo(Bad
682470293.

i only

- \4 \! ﬁ-‘
682470204, 1 STSD

111 only

o o
682470295, 1 SF(SeD

682470296.



i1 and 1v only
i1l 08050 iv S|
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In relation to circular flow of mcome 1 a two sector economy, which of the following
Statements are true’?

doth Sorre v&" oy eoe'i5 8675 emah (ari#OB Homood) (Bod ({Kbked® B9 aiy?

. Flow of factors of ploducnon from households to business firms represents real flow
i Sorio o8 W%&S SormR8 asbn a8 Tz Ero @I (ardl)
30chEG00
1. Flow of factor payments from business firms to households represents money flow
a8 Soifo Kool fboree 6n a8 Tloo Pamro (N ) B0HEL0B.
. Flow of goods and services from business firms to houscholds represents real flow
7578 boifo ol fji GoreRe 807 SQRdo [ariro ORE (PR BDchEH00
v Payments made by households towards consumer goods represents real flow
DG Sdige T8 @‘Jr&oﬁo 3% B0oe TR (e 3@&‘5:35_3033.

Options :
1, 11, 111 and 1v
682470207, 12 11 11 080 1V

1, 11 and 11 only
1, 1l SoBcko il Lo
682470298,

i1, 111 and 1v only
mn  mamm = s . ko _ﬁ-‘
682470299, 11, 111 S08C5 1V 53D



i1 and 1v only

- \E\-\ o - "!_—Eﬁ-\
682470300, 11 0B 1V |8
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Which of the following statements are true n telation to rational expectations hypothesis?
o 2f tiaro 36888 Ronofot (fod & TR O e adp?
. Robert E.Lucas is closely associated with the development of this hypothesis
= 538'5@036 @ﬁé&@@s TR0, 3. ) 66?% Rono¥o tod
1. Asper this hypothesis, shift in agaregate demand and supply curves do not cause any change in
real output
& 2888 (o, Suly Amol Bk DY S HEoped® $) 8D R
wé" e Bibo
. As per this hypothesis, shift in aggregate demand and supply curves cause change in real output
& Bof (obo Kbk Birol DBk Wb S Jgoped® 57) K808 R
:ﬁ@ﬁ@"’ P 8% o8,
V. This hypothesis is related to new classical macro economics:
& 205e N ¥ed Rofiondh e saiﬁﬂ_“"ﬁ Ro2080858.
Options :
1, 11, 111 and 1v
1,11, 11 S8k 1V
682470301,
i1 and 111 only

il LBk iil oo
682470302.
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L, 11 SoBcko iv sl
682470303.

i1, 111 and 1v only
11, 111 So8ckn 1V S,
682470304,
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Which of the following statements are true in relation to Geometric mean”
fie 4808 omofot) (o8 RE* D (EKiaken eiy?

LIt sanshes time reversal test related to mdex mumbers

3B 4 dotyet) donofolld o A8 S5 Hod)} 808

i Itis considered as the best average to construct index numbers
89 570 Sogge 1858 SonoBols eiygd S OMATS
1. Tris used to find out the average percent increase in sales, population efc.
ey, oo BN A8 Sonofolld Mty wéo b SHTHERAE SRR
V. It gives large MIEI 5 10 large items and small weights to smallitems;

5 2 ool ebX ol pbee HBal ) omed S0 Dol pleui siol

Options :
1, 111 and 1v only

1, 111 8% 1v ol
682470305. (S

1, 11, 111 and 1v
682470306, 1> 11, 111 085w 1V



1, 11 and 1v only

1, 1l o8k 1V (@
682470307.

1, 11 and 11 only
1, 11 So8ckn 11 S
682470308.
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Which of the following. measures the dispersion about the regression line?
Bod RE° DD PErSETe Dl Fedrso?
i.  Mean Deviation
2tr Do
1.  Harmonic Mean
8 o
. Standard Deviation
s Difodo

iv.  Standard Error of Estimate
woiiT Gk ([@rirdE o

Options :

1 and 11 only

1 508k 11 S
6824703009.

i1 and 1v only

il So8cks 1V Sre(EcD
682470310.

682470311.



jii only
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v only

2 . \{__tn..
682470312, IV STER
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Which of the following are necessary requirements for using linear programming technique to
solve optimization problems?
) 533015 Sipes 385805708 DAADE Erinof 580 as@rhoRo% Bod e’
98 Achiren?
1. Objective fimction
&-,%:r‘é Poo
1. Decision variables and their linear relationship
“éo.cﬂe‘é* Jerozeen DB & é,?.;’:, 800 wé%’dwu NODOTPED
it Nonlmearity and imdivisibility
S ORR08 $pbu ederegs
Non-negative restriction
”és Aadido
Options:
i1 and 111 only

il So8ckn 1l S
682470313.

1, i1 and 1v only

- - £ - 5 J __':
682470314, 1> 111 0B 1V S(Sab
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g . SN
682470315, 1 11 S08C5 1V &°(SeD
i, 11, 1ii and iv
682470316, L 11, 111 080k 1V
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According to the law of comparative advantage which of the following statements are true?
HoTdt HarEs drpodo Fedo, Eob (b &80 D9 ap?

. A country can import the commodity i which its absolute disadvantage is greater
2 Bdo 855 KJJJES" BR@raNo ;m e &F) SR Bde Eiic&"aéfﬁg&
1. A counfry can 1111p0rt the cmmnodn}r in which its absolute disadvantage is smaller
néad0 &8% R So Saire %) Hhd Brs s )
il A country can import the Lommodny in which it has comparative advantage
24 3o $8% SoTdl Parado aIngh Bobds u@&’”éﬁﬁa
v. A country can import the commodity in which it has comparative disadvantage
2% B0 8%% éaewéé‘f oRdrato &f) Jud Bbde éﬁﬁ%&“@g.

Options :
1 and 1v only

; e %7 ==
682470317, 1 08c5w 1V &e(&ed

i1, 111 and 1v only
- w 'R 5350\5;:1 - ? 'l./j'"ﬁ
682470318, 11, 1 1V S|S0

682470319.
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1, 11 and 11 only
s s =5
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Under flexible exchange rate system. deficit in the balance of payments of a Nation, resulting
from excess money supply, leads to:

[

@%36 {m8%o B ‘J:c‘éiéé*, 2 Bo8° w8 B 55 dmeorr Bhode Bod’ ;:-ag}a' o
38 trBl08)
1, Depreciation of the Nation's currency
O 56&‘5 Devd) é@oéé&
1. Appreciation of the Nation's currency
ea¥ 30) Der6® Dot
. Fall in domestic prices
B0 Bbo HeaRSERRR
v.  Fall in demand for money in the nation
© B8 (5 Side’ SHtiel
Options :
1 only
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682470321.

1 and 1v only
v
682470322, 15000 1V Se(EeD



i1 and 1v only
il HoBcko 1V &Hm|Bad
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1 458080 1V Sl
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According fo the theory of market failure, in case of extemal economies, which of the following statements
are frue?

0 Fer brpodo (35S0, nirdd e Sie doll, (Bod 06 O een .a)y?
¢ ="3 "Q 0 =

1. Actual output is less than soctally optimal output
TR 486 Fol¥ efludddd a§ SoB Syl dotuol
it Actual output is more than soctally optimal output
TR a8)8 Foin¥ efloddd X %08 LS 40008,
i, The marginal social cost is Jess than the private marginal cost
aibod Arolpd o, aabod (Handt] didho Kol Syre dtuo
1v. The marginal soctal cost is more than the private margimal cost

808 aPofol dycbo, aarod Hanikn dcho Yol LK dotnod,
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1 S8y 11 SmE5h
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682470326.
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Which of the following public debt instrument is offered at a discount?
Bod ($408 amm PP BRD &RFot Benk ©L0E=5?
1. Savings certificates
HAV) NOPTey
ii. Bonds
soplelay)
iil. Treasury bills
Bezb Depen
IV.  Fixed deposit certificates
oo H6 fotovire i) nﬁéﬁﬁﬁﬂ
Options :
11 only
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i1 only
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Which of the following statements are true in relation to money?

BaR€ Konodot) Eod Eeses® D 2dy?
1. Money supply 1s a flow concept if it is viewed over a period of time
a VAL B 3 A — pom K -n H-n
(55 S 36 &% o Ry o8 i s
i1 Money supply is a stock concept if it is viewed over a period of time
HVJ'\"/ y _—A‘ 2 p— x,;\"bar-}‘:"' nm A-rn‘z;
(e SR €38 agzeo Qi o8 Dy il
. Money supply is a stock concept if it is viewed at a point of time
&g 95D o3 a8 083 weo Ry =8 der el

1v. Money supply is a flow concept if it is viewed at a point of time
(B $5 &8 2.4 g 88 oo Bps 28 B

Options :
1 and 11 only

HoBcko 1l Soogad
682470333.

1 and 111 only

- 5 [ é;—blé?::l
682470334, o8 1M1 S g

i1 and 11 only
111 So8cko 11 Soo(Eed
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Which of the following statements are true in relation to Marxian Theory of Economic
Development?

el k) @36"‘ a@& Nworﬁa Komofiof) [Bob [éeked® O9 a 2ap?

.. Rate of pmfu is duecth' pmpmnoual to rate of surplus value
o0t Qotben duod Be.:w 6% ¥ oo 7% donoo X0 dotnod

1. Rate of profit is inversely proportional to rate of surplus value
30t Qoiben Devd Bend® D wdia=d Yonodo DR dotnod
iii. Ratio of surplus value to total capital is called rate of profit
Soiben Dend Bty Ao Srereell ?’.a:nbi Ko WJ&_"‘K} e B wotrd.

iv. Ratio of surplus value to variable capital is called rate of surplus value
Qorben Henidd hbakn SEureRRE S &) AYED Siden Hewsd Ben woird
Options :
1 and 11 only
i Ho8cko 11 Soe(EaD
682470337.
1, 111 and 1v only

L, iil %Ba%s 1v LoD
682470338.
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Schumpeter 1s associated with which of the following concepts?

0268 & (Bod O prddes® Sonodo ¥DA BT t?

i1, Division of labour
o Defesd

i1. Stationary state
PeToore )
PL6

1v. Creative destruction
@&;mé@rﬁ DEdo

Options:

1 and 1v only

: ‘4-\ Y : ?“z"ﬁ' !_A"
682470341, 1 8050 1V sae|esed

i1 only

1 S5
682470342.

i1 and 1v only
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Which of the following statement are ot true?

Bod) (fteabed® 30 iy =5

1. Benefit- cost ratio 1s equal to the ratio of present value of benefits to present value of costs

R - o )8, Pdiramy (S Dol DB olre @R e S

D)8 Wiro,

. Benefit- cost ratio is equal to the sum of present value of benefits and present value of costs
PaPES - b A, PAPEe [(Rs ool HBdy Ydire EHE dedo Tnedl
om0

. Benefit- cost ratio is equal to the ratio of present value of benefits to future value of costs
(O - b D8, (e (98 Deoidé ihbk dokre HRYS Deniid ditie
Ran8d ieko

V. Benefit- cost ratio is equal to the sum of present value of benefits and future value of costs

(e - o D8, (Pireamre ({8 Dundd DBk Gaire §E Dond Tnafl
')
Options :
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i1, 111 and 1v only
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Which of the following statements are true m relation to the twin goals of Make in India Progranime?
205 53 soliafe o G Both eged Nonofod Bob [Ebkes’ 09 aiy?

. Improving the share of manufacturing GVA as percent of GDP

&j@&i%@ﬂéﬂﬁ@a, doirbbolio G ‘éasa: Dend) B0 trod B Dddko
1. Reviving manufacturing sector

Sotebort SR

1. Making manufacturing sector internationally competitive

ﬁ * 2. A ~
oiro0o @oécgssdﬂa @&éﬁ%& XOFR Sigore Tobiro

1v.  Imposing very high rate of tariff on the imports of manufactured goods
do5eb Boif o BbdHeD ©fk 5en6® Sozen D800
Options :
1 and 1v only
. - "‘<-h.-\ . w 5
682470349, | 0BG 1V (B3
i1, 111 and 1v only
i, 1l So8cko 1V So|Esed
682470350,
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Assertion (A): According o St. Petersburg Paradox. most individuals are unwilling to participate i a fair
gaIe.
earss (A): R o.éJE 20 e éao 2o K o ey Kie e
nee* %@j?é&?&ﬂ B,
Reason (R): A fair game is one in which the probability of winning and losing is not equal

P59 R): H5r8 odmrwod Ney ©¥T Reny DHid LoHd Ef:o:,réaé Qardore

aodstndod o
Options :
A 1s true and R 1s true. But R is not the correct reason for A
A B R 250w, =0 A % R 38508 580 =%
682470353. ad —

A 1s true and R 1s true. R is the correct reason for A
682470354, A 8™ R 2p. A % R 08308 8w

=

A 1s true but R is false

- "':.n.:l :::."-""' "!‘/\3
682470355, 11 = TR R &

682470356.
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A ééﬂ'}n =2 R ;_é{;:;_
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Assertion(A): Compensatory demand curve is used to identify substitution effect
B85S (A): D8R8 &kmob T (Begimed Perar) HeodtrRd ad@riZd.
Reason(R): Relative price effect is known as income effect
&3 (R): Fof 88 Bererd) ewd Prdo o9 otrs:

Options :
A 1s true and R 1s true. But R is not the correct reason for A
o e, - ‘f-h\_"_\., :Fu{"‘l P L e =
682470357, A Secin R 2P, == A 5R DB DB ==&
A 1s true and R 1s true. R 1s the correct reason for A
A B R adp. A % R IB@E Dd8es
682470358. o/
A 1s true but R 1s false
A 259 =0 R &5p
682470359. ¥ o
A 1s false but R is true
1./,\:' :nc-u, :»..-\/\'3.
682470360. Asdp =d R o
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Assertion (A): The sum of GVA at basic prices and net indirect taxes equal to GDP at constant prices,
B8 (A): [Erdnd ot a7 Densd B0y bty Awd é“&w oméﬁowiﬂéé&é’
NJS@ E}%&ctéggu Mﬁmo

Reason (R): The production approach used for compiling GVA estimates is broadly based on the benchmark
indicator method

oy R): Kﬂqj@ Deod) nbiow) soded ww@o&c& audriod ﬁé;@ a’;éé ando i
Ros 476, a0kdtl 3;5;38?.3 errdb 8ob.
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A Secm Rze l:-:'“ =0 A % R 38508 D358 =%
682470361.
A is true and R is true. R i1s the correct reason for A
A8 Rz A 5 R OB@DS D58
682470362. o =
A 1s true but R 1s false
A 259=0R éaﬁ:p
682470363. o
A 1s false but R 1s true
A &S =0 R a.8p.
682470364. i =
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Assertion (A) : A monopolist earns maximum profit m the long run
oS (A): ey o &6“@.:05‘" (B3 eriroh BT,

Reason(R):
=59 R):

Options :
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A monopolist can adjust output according to market conditions i the long run

ég?@o@” aé&}* "m'iﬁa ma ] mﬁo@é;&fa Ehoigitelenn ﬁé’e Kxﬁmm Todotrd.

A 1s true and R 1s true. But R 1s not the correct reason for A
A 08w R 2.30p. =0 A % R J38G08 05380 ==t

A 1s true and R is true. R is the correct reason for A
A S8 R c.:c; A B R 28638 H58ee

A 1s true but R 1s false
A :&;} =2 R é‘o’g}b

A 1s false but R 1s true
A &5 =0 R 2.5y
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Assertion (A): In classical theory of employment, there 15 dichotomy between money and real sectors
et (A): Sopmedd ﬁﬁa'ﬁwﬁzméoé‘g, (g b aifE orruidiy &3&5&&0 80énod.

Reason(R) In Classical theory of emplovmen money 1S neutral

83 R): Sofmah afee rodos® (B0 diilore aotnod
L o ] L' ] [}

Options:
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A 8w R adp. =0 A % R 386G %0 ==
682470369. = =

A 1s true and R 1s true. R 1s the correct reason for A

A 8ciw R adp. A H R 88 Dddes
682470370. al =

A 1s true but R 1s false
A 23p =0 R &3y

(=2

682470371.

A is false but R is true

A& =0 R 5.
682470372. o )y
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Assertion (A): The range of normal curve, either direction from mean, is unlimited.
Reat (A): Sen Dexdd Botb Fe %S‘m 6@5@ @,"* TH wabdsorr Botnod.
Reason(R) : Normal curve, either direction from mean, approaches nearer and nearer to base but it never touch
the base.
&3 R): Sen Qend Both 390 &éﬁ% ““‘"a, oy erodl df’ 8re SR dotnod. =N

m:ubfﬁ Cno| )
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o0 el -p—rnq"‘u -
682470373, 1 00w Radp. =0 A D R 288 8580 =k

682470374.
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A 8cimw R 2dp. A B R 38@% 58

A 1s true but R 1s false

A 250 =D éaﬂ:p
682470375. o

A 1s false but R 1s true

S50 =20 R 2.5,
682470376. o) T %)
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Assertion (A): The empty set 1s regarded as  finite set of order zero
(GRS (A): 3 S8R (Séiony i SORS S0 {06 eoinh,
Reason (R) : It 15 convention to denote sets by small letters such as a.b.c. etc
P59 R): Rolrrddo (Heto Moo a, b, ¢ 30 200 qmé*% ) efood’ o el

Options :
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ASBamn R 2P, =0 A % R 3538 56 ==t
682470377.
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A8 Radn A 5 RGBS 9586
682470378. o —
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A oy =R R &y
682470379. =
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A &850 =0 R .80,
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Assertion (A): Recursive systems are also called triangular systems
(©8ar258 (A): 8B)3 b (trofiyed dfben e Yo wotrd
Reason(R): In a recursive system the coefficients of endogenous variables form a triangular array

%9 R 6"8 nl o @oéfe;?é Seroze @::“‘* foesren (B3ersda) &ri) HosBohbotran.
& (

Options :
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A8 Radm. =0 A 5 R 38G8 5% =%
682470381. e =
A is true and R is true. R is the correct reason for A
A S8 RadHp. A % R 8BTS D8
682470382. o =
A 1s true but R 1s false
A 250 =0 R &59
682470383. o w
A 1s false but R is true
A é v =20 R 2.5p.
682470384, .
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Assertion (A): Direct money burden of a tax is equal o the tax collections

8aES (A): K Gnd) B o iy Sieg Sieo

Reason(R): Direct money burden of a tax refers to the amount of tax being paid by the tax payers to the

Al 1101'1 ies
=59 R): ) %) 8% (e grbo e Ky Bhoxy wen (EiheRE Tl Ky Ando
Options :
A 1s true and R 1s true. But R is not the correct reason for A
A 8ciw R 2.p. =0 A D R I8G0E D3%ee ==t
682470385.
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A 8 R 2dp. A % R IBEDE D8
682470386.
A 1s true but R 1s false
A 259 =0 R &5y
682470387. - =
A 1s false but R 1s true
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Assertion (A): Goods and Services Tax 1s an indirect tax

Bergs (A): e Sty Do Sy S8 %
Reason(R): In goods and services tax the impact and incident 1s on the same person
wrHy R): 9Ly 0B NG éﬁa&@a, NI ci;:f; edod b0 DB vosd o

22 B Botrow.

o1 i
Options :
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A Bcw R 2.9p. =20 A B R J38G@8 8w =t
682470389. *
A 1s true and R is true. R is the correct reason for A
A 5080 R adp. A % R 083K D88
682470390. 2
A 1s true but R 1s false
A adHv =00 R &5
682470391. e 2/
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A& ==0R 250
682470392. o) =T o)
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Assertion (A): Ina fully monetised economy, the scope of monetary policy covers all monstized economic

activities,

weass (A): 8 B iy EB i ga‘i‘s (65 D 560 (55 9636 o) @6 :"a?%-@fa
O3B0,

Reason (R): Ina fully monetised economy, all economic transactions are carried out with money as medium of
exchange

»

ﬁ;%;\ DRodh éﬁta, pore Ad@RAKR 96"

Options :
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-\.'\ v—: ?‘:" =
682470393, A S8cm R GRSy DASHR NamN LE58m =%
A 1s true and R 1s true. R 1s the correct reason for A
A SHecim R wq:u A% R 580 D58
682470394. =
A 1s true but R 1s false
A 25 =9 é:‘-a'aﬁo}::
682470395, e
A 1s false but R 1s true
A é == R 2.5%.
682470396. o
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Assertion (4): In Harrod -Domar Modzl, economic growth rate is determined by savings ratio and capital -
outpUt ratio,
(388 (A): 00f - 646 im0 58 9ty Simolt 498 R o8
5;)@6@@ Aonzon.
Reason(R): In Harrod-Domar model, economic growth rate 1s mversely telated to savings tatio and directly
telated to capital ~output ratio

69 R): 370k - b Sreed, @gﬁ @gau SR o“ﬁ%% SonomR)

DBk Sredd &é@ ) éc;’géﬁ _H"oaot;‘%‘ 0R Bot0b.

Options :
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A H8cio R 2.dp. A D R I8G08 e
682470397. e
A is true and R 1s true but R 1s not the correct reason for A
s08am R 2.8, =0 A% R 58308 9580 ==t
682470398. =
A 1s true but R 1s false
A 250 =D éaﬂ;‘:p
6824703909. =
A 1s false but R is true
= -p—-n‘;""u -~ ""‘-._:'
682470400, 1\ 2 RO R 2.5p.
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Assertion(A): According to balanced growth approach. the growth and development of various sectors 1S not
possible 1 isolation

a0 (A): Sodds f%& é&" %o [Pe=bo, A Yorre o@& 2B @&éa& 2,008 %‘tﬁ,o

]
=]

Reason(R): Balanced growth approach recognises the significance of economic interdependence of industries
and sectors
) R): S SHockn Sorro v&" S8 e (g HodDs éécg e fBiod

Options :
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A S8cm R 290, =20 A% R {38808 98m =%
682470401. ! =
A 1s true and R is true and R 1s the correct reason for A
A 8o Rad). AH R 3808 35380
682470402. o =
A 1s true but R 1s false
A :uéo‘js =0 R &&9
682470403, —
A 1s false but R 1s true
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Assertion (A): According to big push theory. sustained economic development requires fumpiness of capital.
ea=ts (A): 8R 98 hepodo (b, Dot B el 2 o’ dirutdio sifido

Reason (R): Lumpiness of capital creates extemal economies

=59 R): QJCS Eméo@‘ 2roddo o *665 erod “@moa

Options :
A is true. R 1s true and R is the correct reason for A
‘“{\-\ ¥4 - “/\'\ }":-\ "‘":\ ‘“{-.
682470405, AM&LUJJ R .....nleu. A =0 m&@l’é g)o..&ﬂﬁ"
A 1s true and R is true but R 1s not the correct reason for A
“{\.-\ -\.\'\ 1-1 "': "G’; ﬁ‘-’ﬂ' p—
682470406 A S8chm R 2.5 A% Rwé@m DEB =%
A 1s true but R 1s false
Ry 1—5‘?‘! -.\'\
682470407, 1* P R &3p
A 1s false but R 1s true
A 8550 3P == R 2.5
682470408.

Question Number : 103 Question Id : 682470105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion(4): Accordig to Karl Mary, the increase in organic composition of capital will lead to rise in rate
of profit
8558 (A): 68 58y (o, e SRS b € 57 Doibile, o Btnd®
W8 cBbiod.
Reason (R): organic composition of capital and rate of profit will move in the same direction
%5 R): @q:.“«') FoRfang &b o éavf DBk o Bt o BEF hama.



Options :

A 1s true. R 1s true and R 1s the correct reason for A
A S8c R :,a"g:a. AL R X808 5%

682470400.
A is true and R is true but R 1s not the correct reason for A
"‘4-«.-«. - - 'l—a‘:hl ?{ w4 = 'R —
es2a70a10. B 080 Radp. o0 A R 8GN 820 =otd
A 1s true but R 1s false
Azimv=0R ‘Eju:'o_P
682470411. =
A 1s false and R is false
A S50 3 S50
682470412. P swboim R &3
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Correct Marks : 2 Wrong Marks : 0

Assertion (A): Heckscher-Ohlin model is a model of comparative advantage in modern economics
6L (A) : e ebwiod® KB - 8800 S o Soml Bares S

— @

Reason(R): Heckscher-Ohlin model is a model of long term partial equilibrium
& (R): 248 - 328 S, BYDE B 6B S

™ @
Options:
A 1s true. R 1s true and R 1s the correct reason for A
A8 Rady. A R 2838 5%
682470413. o —

A 1s true and R is true but R 1s not the correct reason for A

50 “ — e - P— oy o
682470414, 1 0BG Ragp. =0 A% R J8G0s D80 =



A 1s true but R 1s false

il s sl -
2o == R &50

682470415. - =

A 1s false and R 1s true
A&Hr==0 R :@3033.
682470416. A
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Correct Marks : 2 Wrong Marks : 0
Assertion(A) : According to mercantilism, the most important way in which a nation could grow rich was

by acquiring gold
Seaes (A): iuB;oé;Dav;c.o o, 24 Béo KR Biorp 5@@ Sotreol, e 20Tl

=

atb;érr m&giso?&
Reason(R): Mercantalism was highly nationalistic
w65 (R) cﬁaBﬂovaD“SJ Vool *ﬂwcﬁaw@w?&\ $5%6r08,

Options :

A 1s true. R 1s true and R 1s the correct reason for A

= ‘4-.-\. - "'x_} F-, ~% “; a5

ego470417. P08 Radp. AD R JI8@S doddes

A is true and R is true but R 1s not the correct reason for A

o LA - "I\::, — P % A :e- =

es2470a18. 1 0BG R 2.p. =0 A B R 086G Dabe ot

A 1s true but R 1s false

Az ‘5..3\ =2 R es‘::;:p
682470419,

A 1s false and R 1s true
A&sHiHhr =0 R :.JE;.”:JD}J.
682470420. ™



Question Number : 106 Question Id : 682470108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Currency- GDP ratio increased in the Indian economy in 1970s i line with economic growth
(ERES (A): 1970 Kosdmos efs a5y 4BY) - Kol AR B6M0b,
Reason (R): In general, there is inverse relationship between currency GDP ratio and economic growth

Iy =0 mopd m L . !
w59 R) Foedmorr @%ﬁ%@% Bk :’6?5‘3, . ‘@gead“atﬁﬁé;g A8l DED omotio sotnol

Options :
A 1s true. R 1s true and R 1s the correct reason for A
e o Vs = i < @
682470421, A S8 R CR-Cel A R 8508 D%
A 1s true and R 1s true but R 1s not the correct reason for A
- Loy - ":\_} ::17"‘. o — - o == L
682470422, A S8 R 2P, 50 AN R SieTenty DHB8m ==
A 1s true but R 1s false
Azdv=2R é&é}z
682470423. By
A 1s false and R 1s true
"‘/\'\ -l—l-u{hl - “"1.
682470424, 1\ S99 O R 25y,

Question Number : 107 Question Id : 682470109 Question Type : MCQ Option Shuffling : Yes Is
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Assertion(A) : Government has been increasing its mvestment on building infrastructure to support India’s

long term growth
PEES (A): G804 ‘%&’* i DnirerRE (b0 eand o Loh Dipatheld
5 5 v 3
R0HER B08.

Reason( R): Avatlability of well developed infrastructure is cructal for achieving overall economic
development

iy (R): dngo bt eGeian BR BoitrRl o el Tob eiipir ST
L4

@%é o bk,

Options :
A is true. R 1s true and R is the coirect reason for A
“{-\-\ - ‘f'\_:, ?‘4 A “:. oy
682470425, A 8o R 2P. A% R SisTents DB
A is true and R is true but R 1s not the correct reason for A
A S8 Rady =0 A% R[S 58 =5
682470426. Y =
A 1s true but R 1s false
Ay =0 R &5y
682470427.
A is false and R is true
A é&;: =2 R :ua’io‘;p.
682470428.

Question Number : 108 Question Id : 682470110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertio(A) : Service sector 1S the key driver of India’s economic growth
B6aRS (A): 888 @6"’-““ &é‘s Dadolo Eudefabem aob.
Reason(R): Service sector 1S expected to contribute almost 55% of GVA growth in 2017-18
&9 (R): 2017-183 H0d é&t’:oés. i Devsd o %&- ando %8 55% 55%
Darbolio Hob Dot dedrotdito esBRob.

Options :
A is true. R is tre and R is the comrect reason for A
A8 Rady. A R 2853080 998,
682470429. Y =
A 1s true and R is true but R 1s not the correct reason for A
A S8 R e u:r“ =0 A% R 298G 98 =%
682470430. =
A 1s true but R 1s false
Az =0 R &bp
682470431. 2 o
A 1s false and R 1s true
A& =0 R a.5%.
682470432. > 2

Question Number : 109 Question Id : 682470111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Amange the following points on straight line demand curve, slopes downward from left to right, in ascending
order of elasticity value:
A $r08 %8B BoBS srende KE¥TuT %) &irol 3y D 406 Dot a*?ﬁié'

Do errborr e (506 eintn.
i Mid- pomt
1L, Below the mid- point
ot Dotbeh B
1ii. Above the mid-point
ot Dot i
Options:
682470433, > ML 1
682470434, L 11, 111

682470435, 11> 1, 111

682470436, 111, 1, 11

Question Number : 110 Question Id : 682470112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Arrange the following markets i descending order based on number of buyers:
Foite e sﬁoa:t'j wrdorr (Bod E"NBGQR’.J o350 '@&Dfﬁ% @éﬁ;ﬁ:ﬁ
1. Monopoly
DEFSyo

1. Monopsony

iil. Oligopsony
=] A‘/'\,
2O cﬁ

Options:
682470437, M- 111: 1

682470438. bt st

i, i, i
682470439.

i i, ii
682470440.

Question Number : 111 Question Id : 682470113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Arrange the following books. in chronological order of year of publication:
Bod Jioed v Hhdolnds o Blirdhrrtors el
1. Inequality re-examined

5008 & - dauSE

1. Hunger and Public Action
Forib ahob HYE LS
ii. Development as freedom
Sohwot] cird B
tv. Commodities and capabilities
ERUEER dool SRandER
Options:

682470441. R R

682470442, V- 11, 1, 111

i, i, i, iv
682470443,

682470444, 1, 111, 1V, 11

Question Number : 112 Question Id : 682470114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following types of inflation in ascending order based on rate of inflation comesponding to each
tpe:
Bod Lﬁﬁ&i@&r Semord, (98 8408® Homotio KON #od @Sésaa;\leao Bt sprborr, o5

Ko ot Fotod,
7

1. Hyper inflation

1, Cmqﬂwhﬂﬂmn
¥ [_éw )0

i, Running inflation

%ng [_ﬁﬂﬁaaa;\lsa-o

V. Walking inflation
582 dSW e
Options:
= ' Tu w F
682470445, e

682470446. Mo iia

682470447, 1V> 1, 111, 11

11, 1v, 111, 1
682470448,

Question Number : 113 Question Id : 682470115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Arrange the following 1n descending order, in case if all the numbers for example Xy, Xp - X, differ in
size:

W53 R Nogo, aeirdnd X, X,...X | B0l B a9 (Bod mER wErn

{_5“’:.,, el

. Anthmetic mean
©ok & ﬁio.oo

1. Harmonic mean
s aﬂ:c,ﬁaﬁo
i, Geometric mean
o mﬁ;sﬁ;o
Options:
682470449, b L 11

682470450. = b

682470451, L 111, 11

682470452, 111, 1, 11

Question Number : 114 Question Id : 682470116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following money market imstruments i ascending order of the introduction in money market:
8ot [y P05 Py, R (65 &rD06° (¢ e TolSlriborr et
i New 182 day treasury bills
$m88 18260 Bub depw
1. Certificates of deposit
Bardd ¥8i80e
1. Inerbank participations
5040 craoE %b?g%:‘éé@

Options :

682470453, 1, 111, 11

682470454. S

11, 1, 111
682470455.

682470456. i

Question Number : 115 Question Id : 682470117 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Arrange in ascending order the Value of India’s exports £.0.b (in US § billions) of the following years:
20d Poddored® 88RY B el 55 Aibdde dund (D00HS eDbs ols K eFirn

¢ ) 2 2

Eod® ey,

i 2012:13
i 201415
i 2015-16

v. 2013-14
Options :

682470457, 111- 1, 11, 1V

oSk e
682470458, 1> 1 UL, ¥

11, 1v, 111, 1
682470459.

v, 111, 1, 11
682470460.

Question Number : 116 Question Id : 682470118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order, the fiscal deficit as percentage of GDP of central government in the following

Vears.

Bof [oddjred &g@é&&mé&@@"‘ S0 @b, @6556‘"&33 w6+ €50 (hogt et

1. 2015-16
1. 2014-15

iit. 2013-14



Options :
682470461, 1> 11, 111

11, 1, 11
682470462.

682470463, > L 111

682470464, 1 11

Question Number : 117 Question Id : 682470119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Arrange 1 ascending order, the shares in gross capital formation of the following in the year 2015-16;
2015-16 Hoisdoé* fo:qj@ ol Hoiiehiod® (2od Sorre wirelh 88w (Edhod® Shiein]
1. Share of crops
Dot FREr
1. Share of live stock
2O e
. Share of fishing
g Howt) i

Options :

682470465, 1> 111, 11
682470466, 11, 1, 11

682470467, 11, 11, 1



682470468, 11> 1. 111

Question Number : 118 Question Id : 682470120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Arrange in descending order the growth rate of net state domestic product of the following states at current
prices, in the year 2015-16:
Eaad ad o, £ 2 1 iy [Avhasd . : v 25 AL -Aé -
2015-16% dogBos’, ob ol @ik [hE (ef Apd of DAY 0t
eis6rm [fikod® e,
i Andhra Pradesh
wolee
1. Jammu & Kashmir
s & =45
- 4
. Telangana
ELlolgyic
Options :
i, i, 1
682470469.

682470470, 11> 1, 111

1, 11, 111

682470471.

682470472. et

Question Number : 119 Question Id : 682470121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Amange 1n ascending ordzr the index number of the following food gratns( 2007-08=100) in the year 2014- 15:
2014-15% doissbo (2007-08=100) & (B0 &8 sotow el Sogrf 65w (Shod’
Vst
i Cereals
éﬁgra P
1. Maize
BNE)
ii. Rice
20

Options:

682470473, L, 11, 111
682470474, 111, 11, 1

682470475, 1. 1, 111

1, 1, 11
682470476.
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70 Arrange in ascending order the percent share of the following states n total production of rice in India in
2016-17 (4™ advance estimates)
2016-175 So58806° 78804 ndo (4 ol eosren) £ 8566° (od o
iro T o8 (008 st
. West Bengal
i Zored
i Uttar Pradesh
888 (388
ii.. Punjab
o
Options :
682470477, 11> 1, 11

682470478, 11> 11 1

i i, i
682470479.

682470480, 11- 111, 1
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Arrange in ascending order the nef production of food gratns 1n India in the following years:
Bobl ‘éoéé{pu@a FEER506 et T Al 6989 e6rm [B06* el

i 2012
i 2013
. 2015

V. 2016
Options :
682470481. M

i, i, i, iv
682470482.

1, 11, 111, IV
682470483,

v, 11, 11, 1
682470484.

Question Number : 122 Question Id : 682470124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Correct Marks : 2 Wrong Marks : 0



Arrange 1 descending order the mvestment rate in India in the following years:

Bod Yodgred® r88aE0s” gl Stnd ©58%rem Kdod® SRvean)
. 2011-12
i 2012-13

i 2013-14

v. 2014-15
Options:
1, 11, 1v, 11
682470485.

682470486, 111 11, 1V, 1

i i, iv, i
682470487.

iv, i, i, ii
682470488.

Question Number : 123 Question Id : 682470125 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 2 Wrong Marks : 0



Arange 1 ascending order the coeffictent of vartation (%)of rupee dollar exchange rate i the followmg
Years:

ob doidret’ brabam - e o Ot G el o8 (of’ iy

w

i 201415
1. 201213
i 2015-16

V. 2016-17
Options :
111, 11, 1, 111
682470489.

v, 1, 11, 11
682470490.

i i, iv, i
682470491.

682470492. R

Question Number : 124 Question Id : 682470126 Question Type : MCQ Option Shuffling : Yes Is
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Arrange the following in chronological order:
€od ER o Eirbardo etin
1. Demonetization of Rs 500 and Rs1000
500 Erarchen H8a 1000 drardhed Serdd Sob Fohotito

. mechmg of Swatch Bharat Mission

l.-‘\v’

%) 5786 Hila (@=Sozfo

1l Ilm‘oduction of Goods and Services tax
DY 0B R a5 9% & 238 660

Options :
682470493, 1, 11, 111

1 1 111
682470494,

682470495, 1 111, 11

i, i, i
682470496.

Question Number : 125 Question Id : 682470127 Question Type : MCQ Option Shuffling : Yes Is
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Arrange in ascending order the crude birth rate m India in the following vears:

Bod HosSred’, p88a%08" dnledmuoind efirn [Ehos® Sheia)
1. 1950-31

i 1960-61

1990-91



Options :
i, i, 1
682470497.

682470498, = 1L 111

682470499, 11> 1, 11

682470500. Sl

Question Number : 126 Question Id : 682470128 Question Type : MCQ Option Shuffling : Yes Is
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Amange 1 ascending order the share of ditferent soutces of power tn fotal energy generated in India m the
year 2016-17
2016-173 ‘éoéé&éo@s. oF a8 b 0 506506 (o & oo 3trob i Gt Svup)
. Hydel power
riE adys
i Thermal power
866 s
. Nuclear power
ot 045
Options:

682470501, 1- 111, 11

682470502, 11> L 11



682470503. £l e

i, i, i
682470504.

Question Number : 127 Question Id : 682470129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Arrange n ascending order year-on-year growth i monetary aggregates in 2016:
20165 Sod&Bod, (3e% Romoth S soTus’ KodE)bo HoddTRE Tin BohY évgs
e (K06 @@&am.
Currency with the public
e 38 &%) £30)
il. Demand deposits
Bémol Birdty
i, Time deposits
Tolh ety
Options :
i, i, 1

682470505.

682470506. S

1 111 1
682470507.

i, i, i
682470508.
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Match the following;

Bod =& e S

List-1
Gl |

Child Sex ratio as per 2011 census

2011 =7rge S (Pero dgw doil 8

L.

fad

943

846

909

888

b.

d.

List -I1
dae- 11
State

o
[si]s]
&

Himachal Pradesh
flr S (GBS
Punjab

Howd
Rajasthan
T

Tamil Nadu
ST

Note: For this question, discrepancy is found in

qguestion/answer. Full Marks is being awarded to

all candidates.

Options :

6824705009.

1-a, 2-b, 3-c, 4-d

682470510, 1-C. 2-b. 3-d. 4-a



682470511, 1-d. 2-c. 3-a, 4-b

682470512, 1-C. 2-d, 3-b, 4-a

Question Number : 129 Question Id : 682470131 Question Type : MCQ Option Shuffling : Yes Is
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Match the following:

Bod LD @ N5

List-I List -II
i | i |

1.  Lead bank scheme a. 1951
O& wgoE S0

2. MSME act b. 1969
g, 08, DSBS HEdotio

3. Industries development and regulation act C. 2011
2B @ﬂéé% S8k ($donbEdes €0

4. National Manufacturing policy d 2006

0% S50 Do

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

682470513, 1G> 2-b, 3-a, 4-c



682470514, 17> 2-D» 3-d, 4-a

682470515. 1-d, 2-c, 3-a. 4-b

682470516, 1-C» 2-8, 3-d, 4-b

Question Number : 130 Question Id : 682470132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following:

[

Bof &N wd S5
List-1 List 11
whE-] wle- 1l

Number of tax payers n 2013-14 fivancal year (I laks) K€€ of 108 come

2013-14 68 kcidfod i) 3ot e oy (cfefl) MO SFE T

I 1372 2. Rs0-25lakh
0-2.5 o%p rarchen
2. 1385 . Rs251t05 lakh

2.5 %0d 5 ofo drarchen

3. 244 ¢ Rs5ito10]akh
5 §oé 10 ofe Srardhen

1 6] d. Rs 10 lakhs and above
10 ofe SraRohen ol e

o

Options :

1-d, 2-b, 3-a, 4-c
682470517.



682470518, 1 3 2-b, 3-d. 4-¢

1-d, 2-c, 3-a, 4-b
682470519.

a b e A
682470520, 1~ 2-b, 3-¢, 4-d

Question Number : 131 Question Id : 682470133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following:
Bod &R e S
List-I
e -]
Name of Book
Kok 2

I, The Logic of British and American Industry
8 28 eh 'u&' 090l oeER aocﬁ'“

Competition in Economic Theory

!‘x.)

TobERS 8% 4k &6
3. Foundations of Economic Analysis

0GR 6P JETE JFORD

4. Barriers to New Competition
2rB00) & Ko SobER

List -II
lar- 1l
Author Name
dand B8

P Samuelson
’3” Ly 5 L)

P. Sargent Florence
;\"60 %m

JS.Bain

P.W.S Andrews
D, Gy, dDR. eollrER

Note: For this question, discrepancy is found in

qguestion/answer. Full Marks is being awarded to



all candidates.
Options :

e Tog B Al
682470521, 1-b, 2-a, 3-¢, 4-d

682470522 1-C. 2-a, 3-d, 4-b

1-d, 2-c, 3-a, 4-b
682470523.

1-c 2-d, 3-b, 4-a
682470524,

Question Number : 132 Question Id : 682470134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:
Bob €N a5 S5

List-1 List -1I
FE -] |
Economist’s approach Name of Economist
oft 38 %) o o0 38 3
1. Transaction demand for money is income elastic a. 1. Baumol
Foard ioe (B Birol ewrdd ag&"’éaj:ﬁcl £DR gotxod 5 Jard
2. Speculative demand for money is assoctated with uncertainty b. Keynesians
Qo TS (5 (ol 8808 £rHSA dotnod RS
3. Transaction demand for money is mterest elastic ¢ James Tobin
i S8 (5% Bimol 5& 750 K0R Soknod Zay) R
4, Considered money as any other durable good d. Friedman
i
(R 288 SR o SR HhGomth [pEes

Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.
Options :

1-b, 2-a, 3-c, 4-d
682470525,

682470526. 1-c, 2-a, 3-d, 4-b

682470527, 1-G» 2-C- 3-a. 4-b

e82470528. 1-C» 2-8, 3-b, 4-d



Question Number : 133 Question Id : 682470135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Match the following in relation to IS-LM approach:
ot &R IS-LM Ko e et

List-I List-II
=iz -] - 1
Efficacy of fiscal policy ISIM
&4 des a’:s’ngé

2. Increase in Government Expenditure
oy 5‘3505:063 oA

Classical Range
ThEE dof

L. Fiscal policy increases the rate of iterest only
25 Qo 6 B Srd Doibod

2. Fiscal policy mereases the level of income and tnterest rae
B4 Qo emrdh Qsow@ 266 36 Benk Dohekod

3. Fiscal policy increases the level of income only
54 Do errcd Fand drgRh ohiod

4. Rughtward shift m IS

1S B HA35% Loerod

¢ Intermediate range
3008 3o5e Bod
d.  Keynesian range

fn A
no, A4 E o
EDRGHS Dod

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

e82470529, 1~ 2-b, 3-¢, 4-d

682470530, 1-0» 2-2. 3-b. 4-C

682470531, 14> 2-C. 3-a, 4-b



1-b. 2-a. 3-d. 4-¢
682470532.

Question Number : 134 Question Id : 682470136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following:
Bod &R eedtdhdm

List-1 List-IT
=lo-1 el - 2
1. Skewed to the right a.  Normal distribution
8395 Sorr SV Hobd
2. Theory of combinations b.  Poisson probability distributions
b8 ?055‘!.155 ISR ey Hohd
3. Continuous variables . Blaise Pascal
Qo8 Serozen Zowe a0
4. Bemoulli trial d.  Binomial Distribution
B0 (Hod¥o BQo0dS Hodied
[=EN
Options :
l-¢. 2-a 3-b. 4-d
682470533.
1-d, 2-a, 3-b, 4-c
682470534.
682470535, 170 2-C. 3-a. 4-d

1-c. 2-d, 3-a, 4-b
682470536.



Question Number : 135 Question Id : 682470137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following in relation to mathematical function:
Bof e e :

List-I List-IT
ol - 1 )
I The set of all real numbers satisfying the continued inequality . Domai
& [ i = '\'\E
D¥osY @‘K}éﬁéwﬂl K:oe‘ée\}g 263 ©f) T 3\50@5@ o8 Foane
2. The collection of various dependent variables b Openinterval
204 el Seromw DE8s L0 5000 36
3. Coeffictent of a variable C. R@ﬁ
28 terofo k) o CrCY
4. Vatious values of independent variable d. Constant
Bl
0 terolo TE) DR denden SETEED

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1-c, 2-a, 3-b, 4-d
682470537.

682470538. 1-d, 2-a, 3-c. 4-b

1-b, 2-c, 3-a, 4-d
682470539.



1-d, 2-a_ 3-b, 4-¢
682470540.

Question Number : 136 Question Id : 682470138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following:

Bod TR eSHBDw

List-I List-II
=l - | e - 11
1. Technological gap model a.  MEPorter
DheEd eh TS e, B 5
Th B =
2. The competitive advantage of Nations b.  Vernon
P r o= - = -\E
% oS duroBs e FiY) oS
3. Infra-industry trade model c.  Posner
e s
B0 - o (B s 2590
4. Product cycle model d. Lancaster
£ 2%
Q5E 8S ariid o B30

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

682470541, 17D- 2-d, 3-a, 4-c

682470542, 1-d: 2-2. 3-C. 4-b



1-b, 2-c, 3-a_ 4-d
682470543,

L e
682470544, 17d> 2-b, 3-c, 4-a

Question Number : 137 Question Id : 682470139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following:
Bob R asdddin

List1 ListII
>l - | =i -11
India’s trade balance (in US § billions) Year
O34 $8¢ Bo (DbTe wROES webus') noud\do
1. -495 a. 2013-14
2. -1301 b. 2015-16
3. -1449 ¢. 201415
1 1476 d.  First half-year of 2016-17

2016-17 ?...u{f@ @g ‘K:oa‘:é[:eﬂo

Options:
1-a, 2-d. 3-c. 4-b
682470545. ' ’ ’

1-b, 2-d, 3-c, 4-a
682470546.

1-c, 2-a, 3-b, 4-d
682470547.



5 v o
682470545, 14 2D, 3-¢. 4-a

Question Number : 138 Question Id : 682470140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following Author’s with their Publications:
Bod Sikiondets a8 [(Hbines® a8t

List-I List-1I
e - ] =l -11
Publication title Author Name
B8 28 Sidomd D
1. Econonucs of Control a. AP Lerner
HrfdE) 6 LolP°S 2.5 B8
2. Public Finance b.  Gerhard Colm
208 Q) Rb &5 =5
3. Progﬂ‘esswe taxation in theory and practice ¢. UKHicks
BPERS EmT)aS oS 86 ohol oy o2 &5
4. Essays in Public Finance and Fiscal policy d  ERA Seligman
R a8 S5 PR ool HTES ed 5.65.2. DOR &rS

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :
682470549, 1-b. 2-d. 3-a, 4-C



682470550, 1% 2-d. 3-b. 4-c

1-c. 2-b. 3-a. 4-d
682470551, ’ : :

1-a, 2-b. 3-c. 4-d
682470552.

Question Number : 139 Question Id : 682470141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following;
Bod ER 2838hw ;

List-I List-II
e - 1 e - 11
1. Legal requirement a.  Open Market operations
Shmd ©ddbo 2360 Sred S¥ren
& Q g o
2. Reporate b. Credit rationing
B85 3858 SRR
3. Guilt edged securities c. Bank Rate
AS DG RmBles arof Bew
- o
4, Selective credit control d. CashReserve Ratio
0¥ TR B8 Aadolges S dere 998

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.



Options :

s Bud B A
682470553. l-c.2-d. 3-a. 4-b

1-a. 2-b. 3-d. 4-c
682470554,

1-c, 2-d, 3-b_ 4-a
682470555,

682470556. 1-b, 2-a, 3-c, 4-d

Question Number : 140 Question Id : 682470142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following authors with their publication:
Bod Slamdeh T8 [Hidbnos® wddshdm :

List-1 List-I1
e - | =l -1
Title of Publication Author Name
B8 D BSond S

1. The Challenge of Poverty
% o8of ef éﬁ"ég
Theory of Economic Growth b
66 o DB (6 '
3. Migration and Economic Growth
DO 0908 Al [°5

a. B. Thomas

8. T

D.S. Landes

6.00R. o6

¢.  Gunonar Myrdal
OB &‘otgﬁ

!‘»J

4.  The wealth and Poverty of Nations _ e
5 g oo d.  Arthur Lewis
& 3¢ ool £8P B T <5 895

Options :



1-c, 2-a, 3-d, 4-b
682470557.

682470558, 1-a 2-b. 3-d. 4-c

682470559, 1~C» 2-d; 3-a, 4-b

682470560. 1-b, 2-a, 3-¢, 4-d

Question Number : 141 Question Id : 682470143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following authors with their publication:

Bod Slomdei a8 [ihdned® wsnsiha :

List-I List-1I
i - =l -1
Title of Publication Author Name
B8 26 Bond B
1. Environment and economy: Property rights and public policy ~ a.  D.W. Broomley
RrorRdbot] ol Al : @“éé@&i dbols HE Sk 6. oy, (D
2. The Population Bomb b. RHCoase
§ Sryis wod ©6.378. &5
3. The Control of Resources ¢. P.Das Gupta
& %o & 6¥OR b, o ik
4. The problem of social cost d. Elrlich Paul
& [eRp e 56 =F J00Z &6

Options :



-a. 2-d. 3-c. 4-b
682470561. %

682470562, 1~ 2-b. 3-d. 4-c

682470563, 1-0» 2-d, 3-a, 4-c

682470564, 1-C- 2-@, 3-b, 4-d

Question Number : 142 Question Id : 682470144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following items with their share m GDP i the year 2015-16:
2015-16 So& 808" £ aTe B%tf@e.s\& * Bod oo ird vile voTes @ik

List-I List-1I
Pl - | i | |
Share in GDP (%) [tem
*=e.> ﬂé&ré\"ﬁ T (%) wodo
E 18 a. Tax Revenue
) Tl
2. 04 b.  Total non-debt 1‘eceipts
S8 Tade & e
% 152 ¢.  Non-tax revenue
‘533;9‘.9“6 ook
4, 27 d.  Non-Debt capital receipts

S0 redd Trathen

Options :

682470565.



1-a. 2-d. 3-c. 4-b

1-c, 2-b, 3-d_ 4-a

682470566.
1-b, 2-d, 3-a, 4-c

682470567.

682470568, 1-C- 2-. 3-d. 4-b

Question Number : 143 Question Id : 682470145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following:

Bod 6N adsbhio

List-I List-1I
e - 1 o |
Outstanding internal debt (as percent of GDP) Year
DA ARy @oé?é 260 (‘fo:;@ 3@&?6&%@5 Fd0) RoRdido
1. 376 a. 2012-13
2. 379 b. 2013-14
3. 318 ¢. 2014-15
4. 392 d.  2015-16 Revised Estimates

2015-16 256008 wodrw

Note: For this question, discrepancy is found in



guestion/answer. Full Marks is being awarded to

all candidates.

Options :

1-b, 2-c, 3-d, 4-a
682470569.

1-c, 2-a_ 3-b_ 4-d
682470570.

1-c, 2-d, 3-b, 4-a
682470571.

682470572, 1~ 2-C, 3-d, 4-b

Question Number : 144 Question Id : 682470146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:
Bob &Y eesdtehin;

List List-II
=l -1 RS
1. Asthur Laffer a. New Keynesian economist
o% =55 X 20%0HS wdf ¢
G i
2. Ben Bemnanke b. Supply side economist
38 B6rod R RE €L 98
3. Robert E. Lucas ¢. New classical Macro economist
o0f & woh SRV vy ‘é’n@w @gﬁ 3¢
£ Millonbriedman d. Monetarist economist
' : % o D
oS HEDS (B 70 of8 28
Options :
i Bk G A
682470573. 1-b, 2-a, 3-¢. 4-d
682470574, 1°C: 22, 3-b, 4-d
682470575, 1-& 2-d. 3-b. 4-C

682470576, 1-D, 2-c, 3-a, 4-d

Question Number : 145 Question Id : 682470147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:
Bod &R wsndhdm:

List-1 List-1I
e - ] im -1l
Value of Marginal Propensity to Save Investment Mulfiplier Value
darod S0 ()8 el b oo Deod
. 025 a. Infinite
©R00
2. b. 10
3. Zero ¢ 2
Gy
4010 d. 4
Options :
1-a, 2-c. 3-b. 4-d
682470577.
1-b. 2-a. 3-d. 4-c
682470578,

682470579, 1-C, 2-d. 3-b, 4-a

1-d, 2-c, 3-a, 4-b
682470580.

Question Number : 146 Question Id : 682470148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:
Bob &R et
List-I
rhw - |

(oal number
I Lo L ~
a:é-,a [éa..;s Rogy

1. 10
2. 2
3. B
4 3

List-1I
e I | |

Sustainable development goal

Klﬁcéaﬂﬂég% 0§
Achieve gender equality
Dol WErRE0 arfotio
Reduce mequality
ORISR Sfoito
Ensure healthy lives
@58@356?0__0& £l wodoio
End hunger
200 & e

Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to

all candidates.

Options :
682470581, 1-C- 2-2. 3-d. 4-D

682470582, 1-C> 2-a, 3-b, 4-d

1-b, 2-d, 3-c, 4-a
682470583.

682470584, 1-d- 2-C, 3-a, 4-b

Sub-Section Number :

Sub-Section Id :

2
68247012



Question Shuffling Allowed : No

Question Id : 682470149 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (147 to 150)

Question Label : Comprehension



The protection of environment s needed for sustainable development. The Industrial pollution, degradation of
forests, depletion of ozone layer, the green house gases results in global warmmg and climate change which will
have an adverse mpact on environment and human health. There 15 a need for conservation of Biodiversity,
protection of wetlands and prevention of environmental pollution, promotion of ecological balance enables
sustainable development. The United Nations Organisation passed Convention on protection of wetlands 1n
1971, and UN convention on Biodiversity efc. Many are agreed that climate change may be one of the greatest
threats facing the planct. Changing climate patterns will increase vulnerability to the natural disasters, such as
floods and cyclones.

The role of forests in the national economy and in ecology was emphasized in the 1988 National Forest Policy,
which focused on ensuring environmental stability, restoring the ecological balance. Government also enacted
wild life conservation act m 2002. In 1988, the Forest Conservation Act of 1980 was amended.

Séoéécvéﬁée)@ F68) chtgééaa 200
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o 8o, L4 P DY o, (5 5 o meorr rario
300, ol e e FSbo oo G0 s8R R
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b0 Sispreo Hodn depd) sar0odod eba) Hode o - 19808
19888° :imen Taio &0l

Sub questions

Question Number : 147 Question Id : 682470150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The protection of environment is needed for achieving:

3V THoLeFRE Dogddes HBBER ©5HE0?

Options:
Inclusive Growth
D88 96

682470585, o
Sustainable development

£)4

682470586, VOOSTIRE
Low rate of growth of population
$End mwmrrr HO Béw

682470587. "
Technological development
%oéa:—-@éé%

682470588,

Question Number : 148 Question Id : 682470151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion(A): Global warming will have its adverse impact on human health and the environment
Peas (A): dreto Srde sa&"ﬁ;og_J 0Bk uzcgéfﬁmo D m@wwo E@ﬁé@o&
Reason(R) : Depletion of Ozone layer is not a reason for global warming
%9 R) &85 &8 Lodo éﬁ@%bo ¥roardd 0f oo .

Options:

A 1s true and R 1s true. But R 1s not the correct reason for A

A 8w Radp. =0 AH R 3838 &% ==
682470589. o =



A 1s true but R 1s false

A 257 =0 R 5.
682470590. o o/

A 1s true and R 1s true and R 1s the correct reason for A

A 08dm R 2dp. A% R 380 HX6e
682470591. / =

A 1s false but R 1s true

A 850 =0 R 2.Hm.
682470592. %) o

Question Number : 149 Question Id : 682470152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following:
Bod &Y esHBhdw:

List- List-II
dee -1 =l - 11

1. 1980 a.  National forest policy
Péch o8 doevo

2 1988 b. Forest Conservation Act
ot sﬁoééra- n‘ﬁé,ﬁo

3. 2002 c. Protection of wetlands Act
88 drdne DO¥En Hho

4. 1971 d.  Wild life conservation act

S8 Hyrre Dol Héo
o e = e
Options:

1-b, 2-a, 3-c. 4-d
682470593,

682470594,



1-a, 2-b, 3-c. 4-d

682470595.

682470596.

Question Number : 150 Question Id : 682470153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

1-b. 2-a. 3-d. 4-c

1-d, 2-c, 3-a, 4-b

Correct Marks : 2 Wrong Marks : 0

The canopy of environmental protection spread its wWings across:
SogRdee 085 HBo Tl (Eob &S 8L Somoboios?

1.

11.

11l

V.

Options:

Conservation of bio-diversity
E5% DYy Ho¥¥es
e 2 i,
Protection of Wet lands
88 orime Ho¥Ee
Promotion of ecological imbalance
L8 ©XDHHeEH DoTrodoito
Prevention of environmental pollution

Dot searg®) Aobol@oeo

Owd |
'-...'Cﬁ

1, 11, 111 and 1v

682470597.

i i, iii SoBck iv

i1 and 11 only

682470598.

682470599.

il SoBcko il Soe (g3



i1, 111 and 1v only
11, 111 $o8ckn 1v So=(Ead

1, 11 and 1v only

i, il Hobdko 1V L@
682470600.



